Bt = X
(ERL2 753 B3 1 BHRE) Sl RETHE 2B RES (Bf - M)
' E 8 &8 o A R & ]
I. EEDH
1. RENEE
He 30, 000 30, 000
e — et 33, 584, 331
33, 584, 331
RRE —f&Et 51,317,370
51,317,370
EHEMNE 0
AEE 6,910 6,910
LEEMANENMNE 0
mEEE S G 84, 938, 611
2. BEEE
(1) ERBfE 73, 283, 749
EHEE PERTEES RS
OEEE 10009920 2, 000, 000
B B EANELREL 2 — 59, 328, 543
BYtERE 11, 955, 206
(2) ZODOBEEERE 316, 276, 460
BMERE 0
BEY 1,792,903
HIjERE 1,615, 550
FERUESR 2, 428, 004
Y7 ko7 0
BHGEREEEE TR 23, 662, 003
i S E eI R S 250, 010, 000
EREEEITESE 36, 768, 000
E & E & 5t 389, 560, 209
& E =1 i - 474, 498, 820
I. &E0H
1. REIAR
KiLE 7,171, 244
E2e 0
AYE 820,013
B AERESF 7,991, 257
2. BEGE
BEHRESIHE 22,140,573
B A HES8F 22,140,573
= & =) &t 30, 131, 830
= 51 3 3 81 E 444, 366, 990

19




